Section 7.6- Indices

43 5 18 the index and 4 18 the base number

Rules — In tables pg 21. Must know how to calculate on a calculator.

Revision of the rules of indices.

6° X 64 = 67 an.a = qn

4 =4 a0 =42 al = gm=n
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Note: VX = VX = x? = the square root of x.

= the cube root of x.
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X = x' = the fourth root of x ... ¢lc.
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)* = 125 (most often, it is casier to get the root first and then
raisc to the power.)

/(Example 1 )

Evaluate cach of the following.

(i) 27 (ii) 36° (iii) 64" (iv) ()
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Example 3 )

((S how that 5;:_l 3_—?1?

= 29
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CC” (/) a*xa’ = a?® (i) o.xo <2
| FH') 22°x 3’ - 615 (iv) X4t = "
(o X5 s x™ () @°=/
(i) Y7 -3 (i) (@®)’-a°®

0 2 2 =,_F_,_;x &) (224 92’4’

‘o @2 ) e - 4 6i) 3~ - %

)i / = a:: ] P

W) ~2= = =8  (iv) 2Z-= -3;/_,-9/4
) 7% = 4°-/o =2




J; (2 8°” - 24
6i) /6% - {\/F’= =3
L Gi>  gyPeA5) e 370
_| (v>__81% - (J57)’ = 3’ =2F
® | (o iasE [Ym) -5 =25

Zu)zy )" F’ 755 {:7?) ZEﬁf

o (Zm) " ) = (%)= 7575
9 ('r) (3%)3 1% = 3/
*’ | :

|







-










L-,

& ?gll_ 27" =
| ggng .r;! 2‘7 2.7_.Q(2") il
= 261.626 =262 Ha. 5
I e S V= %0 1
. i, _h)”® -
LN 2 (1) d
/. =i - !
) = 4y ¥ B
i UNE )T - [ e —
| ﬂj *aﬂﬂ: p & ﬁl > :‘I{:L:' i

- . T ::':} 141 = %\%




1 5l L |




(i) fTﬁd—'S) 2 &
(W) o) = 3
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